BOARD REVIEW QUESTIONS  (MM—36-37-38) – SESSION NO. 21     April 10, 2003
DIRECTIONS:  Each of the numbered items or incomplete statements in this section is followed by answers or by comple​tions of the statement. Select the ONE lettered answer or completion that is BEST in each case and fill in the circle contain​ing the corresponding letter on the answer sheet.

1. 
A 26-year-old patient with multiple trauma is admitted to the intensive care unit postoperatively. The early development of polyuria, hypotension, low urine sodium excretion, high serum osmolality, and normal serum creatinine concentration is best explained by

(A)   adrenal insufficiency

(B)
fluoride-induced high-output renal failure

(C)
inappropriate ADH secretion

(D)
intraoperative fluid overload

(E)
posterior pituitary insufficiency

90B-45 (36,50)

2. 
Bronchospasm occurring during anesthesia in a patient with an ileal carcinoid is best treated by administration of

(A) aminophylline

(B) dexamethasone

(C) halothane

(D) ketamine

(E) somatostatin

90B-58 (36)

3.  
Each of the following statements about pheochromocytoma is true EXCEPT:

(A)
Preoperative administration of alpha-adrenergic inhibitors will usually reverse EKG changes due to cat​echolamine myocarditis

(B)
Preoperative administration of alpha-adrenergic inhibitors decreases operative mortality

 (C)
Beta-adrenergic inhibitors should be administered preoperatively only in conjunction with alpha-adrenergic inhibitors

(D)
Vasopressor therapy may be necessary postoperatively for treatment of hypotension

(E)
Nasal congestion is a sign of inadequate alpha-adrenergic block

90B-105 (36,12)

4.  
Two months ago a 68-year-old man with insulin-dependent diabetes mellitus had a transurethral resection of the pros​tate under spinal anesthesia with tetracaine plus epinephrine. He now has numbness and tingling in both feet and dis​turbance of gait. Physical examination demonstrates stocking-type hypesthesia of both feet and ankles. The most likely diagnosis is

(A)
anterior spinal artery syndrome

(B)
diabetic neuropathy

(C)
adhesive arachnoiditis

(D)
cauda equina syndrome

(E)
peripheral nerve injury from the lithotomy position

91A-140 (16,36)

5. 
Which of the following statements concerning the management of diabetes mellitus during pregnancy is true?

(A)
Insulin requirements remain essentially unchanged during pregnancy

(B)
Maternal blood glucose concentration of 200 mg/dl is optimal

(C)
Maternal hyperglycemia may cause neonatal acidosis

(D)
Neonatal hyperglycemia is common

(E)
Infants delivered under general anesthesia have lower Apgar scores than those delivered under spinal anesthesia

91A-151 (36,42)

6. 
A 40-year-old woman with Graves’ disease is undergoing thyroidectomy with 1% isoflurane, 60% nitrous oxide, and oxygen.  During surgical manipulation of the thyroid, temperature increases to 38.5(C, heart rate to 160 bpm, and blood pressure to 150/100 mmHg. The most appropriate initial treatment is to

(A)
administer dantrolene sodium

(B)
administer potassium iodide

(C)
administer propranolol

(D)
administer propylthiouracil

(E)
increase the concentration of isoflurane

91B-5 (36)

7. 
A patient has a decrease in heart rate from 80 to 50 bpm and a decrease in blood pressure from 140/90 to 60/40 mmHg while in the recovery room after adrenalectomy for pheochromocytoma. The most appropriate treatment is administra​tion of

(A)
atropine

(B)
calcium

(C)
hydrocortisone

(D)
isoproterenol

(E)
norepinephrine

91B-17 (49,36)

8. 
Which of the following is greater in an obese patient than in a nonobese patient of equal height?

(A)
Milliliters of local anesthetic required for epidural block

(B)
Milligrams of succinylcholine required for intubation

(C)
Clearance of diazepam

(D)
Clearance of fentanyl

(E)
Oxygen consumption per body surface area

93B-71 (36)

9. 
Which of the following should be included in the preoperative management of a 12-year-old patient with Duchenne muscular dystrophy who is unable to ambulate?

(A)
Determination of serum creatine kinase concentration

(B)
Determination of serum potassium concentration

(C)
Liver function profile

(D)
Echocardiography

 (E)   Dantrolene prophylaxis

91A-92 (37)

10. 
The action of dantrolene on skeletal muscle

(A)
occurs within the neuromuscular junction

(B)
alters electrical properties of  the muscle membrane

(C)
does not result in muscle relaxation

 (D)
 decreases myoplasmic calcium concentration

(E)
results from competitive inhibition of caffeine

91A-153 (37)

11. 
A 15-kg, 3-year-old child is anesthetized for an inguinal hernia repair with halothane and nitrous oxide. The trachea is intubated after administration of succinylcholine 30 mg. At the conclusion of the 45-minute procedure, the child is not breathing; a peripheral nerve twitch monitor indicates no response to a train-of-four stimulus. Further investigation is most likely to show

(A)   abnormal response to nondepolarizing muscle relaxants

(B)
a low dibucaine number

(C)
a low plasma cholinesterase concentration

(D)
an underlying myopathy

(E)
a positive halothane-caffeine contracture test

92B-14 (9,37,44)

12. 
A patient with hypokalemic familial periodic paralysis develops weakness of skeletal muscles at the end of an emergency appendectomy under spinal anesthesia. If the weakness is a result of the familial periodic paralysis, which of the follow​ing statements is true?

(A)
Bicarbonate therapy is indicated

(B)
Cardiac dysrhythmias are unlikely

(C)
Initial treatment is intravenous edrophonium

(D)
Potassium infusion is contraindicated


(E)
The paralysis spares the diaphragm

92B-51 (37)

13. 
Nitrous oxide is contraindicated during



     (A)   injection of sulfur hexafluoride for retinal tamponade.

(B)
repair of open eye injury

(C)
scleral buckling with synthetic bands

(D)
strabismus surgery

(E)
trabeculectomy for glaucoma

91B-94 (38)

14. 
A 70-year-old man with stable angina is scheduled for cataract removal with a retrobulbar block. After injection of 5 ml of 0.75% bupivacaine, heart rate decreases from 90 to 55 bpm, and frequent premature ventricular contractions are noted on the EKG. These changes are most likely caused by

(A) intravascular injection of bupivacaine

(B) subarachnoid injection of bupivacaine

(C) myocardial ischemia

(D) oculocardiac reflex

(E) retrobulbar hemorrhage

92A-153 (38,20)

15. 
Which of the following is the most likely cause of apnea occurring after a retrobulbar block?

(A)
Epidural injection

(B)
Increased intracranial pressure

(C)
Oculopontine reflex

(D)
Ophthalmic artery injection

(E)
Subarachnoid injection

93B-54 (38)

16. 
Intraocular pressure is

(A)
decreased by glycopyrrolate

(B)
increased by hyperventilation

(C)
decreased by halothane

(D)
increased by nondepolarizing muscle relaxants

(E)
increased by phenylephrine eye drops

93B-68 (38)

DIRECTIONS: For each of the questions or incomplete statements below, ONE or MORE of the answers or completions given is correct. On the answer sheet fill in the circle containing

A if only 1, 2 and 3 are correct,

B if only 1 and 3 are correct,

C if only 2 and 4 are correct,

D if only 4 is correct,

E if all are correct.

FOR EACH QUESTION FILL IN ONLY ONE CIRCLE ON YOUR ANSWER SHEET

DIRECTIONS SUMMARIZED


 A
B
C
D
 E

1,2,3
1,3
2,4
4
All are


only
only
only
only
correct

17.
 Induction of anesthesia with usual drug dosages and concentrations may lead to cardiovascular signs of overdose in patients with hypothyroidism because of expected decreases in

(1)
respiratory quotient

(2)
minute volume of breathing

(3)
circulating blood volume

(4)
cardiac output

90A-146 (36,7,8)

18. 
Autonomic neuropathy associated with diabetes mellitus results in

(1)
decreased baroreceptor response to hypotension

(2)
increased risk of gastric regurgitation

(3)
increased risk of occult ischemic heart disease

(4)
altered responsiveness to hypoglycemia

90B-114 (36)

19. 
Problems that occur with increased frequency during the anesthetic management of patients with acromegaly include

(1)
polypoid pharyngeal masses

(2)
systemic hypertension

(3)
glucose intolerance

(4)
decreased subglottic diameter

90B-167 (36)

20. 
Potential problems associated with transsphenoidal hypophysectomy for advanced acromegaly include

(1)
postoperative intractable hypertension

(2)
excessive postoperative diuresis

(3)
intraoperative hypoglycemia

(4)
difficult endotracheal intubation

91A-39 (36,26)

